
Question 1

Spikelet inflorescence is found in the family : 
�াইকেলট বা অনমু�রী পু�িবন�াস �য �গাে�র মেধ� �দখা যায়, তা হল - 

Question 2

Internode between androecium and gynoecium is called: 
পুং�বক �থেক �ী�বেকর পব �মধ�েক বলা হয় - 

Question 3

A flower that can not be cut into two equal halves through vertical plane is called : 
�ক� বরাবর �য ফুলেক দু�ট সমান ভােগ ভাগ করা যায় না ,�সরকম ফুলেক বলা হয় - 

Question 4

When in a flower the stamens are in two whorls,the first being antipetalous, i.e. alternating with sepals and the second being antisepalous ,i.e. alternating with
the petals,the flower is called: 
দু�ট আবেত� সাজােনা ফুেলর পুংেকশর�িলর মেধ� বাইেরর আবত��ট পাপিড়র িবপরীেত থােক এবং িভতেরর আবত��ট বৃ্ত�ংেশর িবপরীেত থােক, এ�প ফুলেক বেল - 

Question 5

A soft raceme, spike-like pendulous inflorescence of small apetalous unisexual flowers is called: 
একিল� ফুলিবিশ� ,দলছাড়া ঝুল� নরম �রিসম বা �রিসম সদৃশ পু�িবন�াসেক বলা হয় - 

Question 6

Stamens remaining attached on the petals are known as: 
দলাংেশর উপর সংযু� পুংেকশরেক বলা হয় - 

Question 7

Individual segments of perianth is known as: 
পু�পুেটর এক এক�ট অংশেক বলা হয় - 

Question 8

Formation of seed without fertilization is known as: 
িনেষক ছাড়া স�ৃ বীজ �তরীেক বলা হয় - 

Question 9

Pollination of a flower from the pollens produced by a different flower of same plant is known as: 
একই গােছর দু�ট পথৃক ফুেলর মেধ� পরাগসংেযাগেক বলা হয় - 
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Question 10

Seed dispersal through explosive mechanism is called: 
িবদারী প�িতেত (explosive mechanism) বীেজর িব�ারেক বলা হয় -  

Question 11

The artificial system of classification was introduced by: 
কৃ��ম ��ণীিবন�াস প�িত �চলন কেরন : 

Question 12

The group "Lignosae"was recognised in the classification of: 
"িলগেনািশ" (Lignosae) িবভাগ�ট ��ণীিবন�ােস পিরিচত কেরন : 

Question 13

Tetradynamous stamens are found in: 
দীঘ � চত� �য়ী পুংেকশর �দখা যায় - 

Question 14

Pappus is the modified organ of: 
প�াপাস (pappus)এক�ট �পা�িরত অ� যা আসেল - 

Question 15

Synandrous stamens and inferior ovary are found in: 
সাইনা�াম পুংেকশর এবং ইনিফিরয়র ওভাির �য �গাে� �দখা যায়, তা হল - 

Question 16

A Flower is called a complete flower,when it has
এক�ট ফুলেক স�ূণ � বেল,যখন তার মেধ� থােক - 

Question 17

Stamens remaining attached on the perianth are called
পুংেকশর পাপিড়র সে� যু� থাকেল তােক বেল 

Question 18

When the margins of each petal is overlaping from both sides is known as
যখন এক�ট পাপিড়র উভয়�া� পেরর পাপিড়র �ারা আংিশক ঢাকা থােক,�স রকম ফুল �ক বেল

Question 19

When the anthers of an androecium are united,but the filaments remain free,the flower is said to be
যখন ফুেলর পুং�বেকর পরাগধানী�িল পর�র যু� থােক ,িক� পুংদ��িল মু� থােক,�স�প পরাগধানীেক বেল

Question 20



The infloresecence type of sunflower is known as
সূয �মুখী ফুেলর পু�িবন�াসেক বেল

Question 21

When flowers are arranged on swollen or flat axis of floral stalk,the floral part is called
পু� বেৃ�র উপর �ীত অে�র মেধ� ফুল  সাজােনা থাকেল তােক বেল

Question 22

Polycotyledonus seed is found in
ব�বীজপ�ী বীজ �দখা যায় এমন বীজ হল 

Question 23

Linneaus classified plant kingdom in his artificial or sexual system into classes of
িলিনয়াস তারঁ কৃ��ম বা �যৗন ��ণীিবন�াস প�িতেত উ��দ জগৎেক ভাগ কেরন 

Question 24

The book "The evolution and classification of flowering plants" (1968) was written by
"The evolution and classification of flowering plants"(1968) বই�ট িলেখিছেলন 

Question 25

According to the classification of Bentham and Hooker last natural order (family) of monocotyledons is
 "Bentham and Hooker"-এর ��ণীিবন�াস অনুযায়ী একবীজপ�ীর �শষ �গা� হল 

Question 26

Free lateral stipule is the characteristic of the family
মু� পা��য়(Free lateral) উপপ� �য �গাে�র �বিশ��,তা হল

Question 27

Presence of pappus, syngenesious stamens,inferior ovary are the characteristics of the family
 "Pappus","syngenesious stamens" এবং "inferior ovary" �য �গাে� �দখা যায়, তা হল 

Question 28

A Compound pollen aperture is known as
 "Compound pollen aperture"  হল 

Question 29

The largest botanical garden of India is
ভারেতর সবেচেয় বহৃৎ botanical garden  হল 

Question 30

Which of the following fruits is not a true botanical match with others?
�কান ফল�টর �কৃত ফল িহসােব অন� ফল�িলর সােথ িমল �নই?




